Federal Personal Income Tax
Outline

I. Introduction

A. We have a progressive income tax – you pay a higher percentage of your income as your income increases.

B. 3 basic goals – for how we implement the tax code

1. Fairness – 2 components:

a. Horizontal equity – treating similarly-situated people the same.  Identical tax consequences for similarly-situated people.

b. Vertical equity – up and down the ladder in terms of well-being.  We should treat people with less income better and have them feel less of a pinch.

2. Efficiency (economic rationality) – we want to distort economic decisions as little as possible.  Getting people to do something (or not do something) because of tax consequences is bad and inefficient – we want to avoid this.
3. Administrability – tax code adopts an arbitrary rule simply because it is the best way of administering a tax system.
II. Some characteristics of income

A. What is income?

1. § 61 – “an accession to wealth clearly realized”

B. Noncash benefits

1. Employer-provided food and lodging
a. Benaglia v. Commissioner – Benaglia is the manager of the Royal Hawaiian, the Moana bungalows, and a golf club.  He is getting meals and lodging at the Royal Hawaiian from his employer.  The FMV of the meals and lodging is $7600.  He also gets a yearly salary of 10K cash.  He does not report, but the IRS says the meals and lodging should have been reported as income.
i. Holding – it was not income because it was for the convenience of the employer.  

ii. Congress enacts § 119 after Benaglia to clarify things.  Sets down specific rules for when employer meals and lodging can be excluded from income.  Both confirms Benaglia by adopting convenience of the employer standard and overrules it by stating that meals and lodging ARE income but can be excluded if meet the requirements.

b. Present treatment: § 119 – requirements for meals to be excluded from income:
i. Must be furnished or on behalf of employer

ii. On the business premises

iii. And for the convenience of the employer (situations where an employee must be on call during meals, etc.)

iv. Additional requirement for lodging: employee is required to accept such lodging on the premises as a condition of his employment.
2. Frequent flyer credits

a. Credits earned by business travel – clearly income, but problems with valuation.  So IRS says it is income, but you are not required to report it.

b. Credit earned by personal travel – not income.

3. Fringe benefits

a. § 132 covers fringe benefits that are excluded from gross income.

i. Covers stuff that many employers often provide.

ii. Includes no-additional cost services, qualified employee discount, working condition fringe, de minimis fringe, qualified transportation fringe, qualified moving expense reimbursement, or qualified retirement planning services.

4. Exclusion v. deduction

a. Exclusion – the item is not included in the TP’s income at any point.

b. Deduction – subtraction from adjusted gross income to account for an expense.  (So in a sense, it is included and then removed.)

c. Credit – reduction in tax liability.

5. Other fringe benefits

a. Life insurance – small exception that says employers can provide up to 50K of group-term life insurance without any being added to the employee.  

b. Health insurance – employer-provided health insurance is excluded from income.

c. Dependent care assistance – employers can provide up to 5K a year that is tax-exempt.

d. Cafeteria plans (§ 125) – provision permits employers to provide certain benefits in the form of a choice between tax-preferred benefit or cash.  

i. Example: SCU says we’ll give you 5K in childcare or cash, whichever you want.  Without § 125, this would be constructive receipt.  If they choose the benefit, they will be able to exclude from income and constructive receipt will not apply.

ii. If the employee takes the cash, that will be taxed.

C. Windfalls and gifts

1. Punitive damages

a. Glenshaw Glass case – Glenshaw ends up settling a lawsuit for $800,000.  Of that amount, the parties agree that 325K of the damages were punitive.  In William Goldman Theaters case, 125K was compensatory and 250K was punitive.  They both report their compensatory damages as income, but not the punitive amounts.  Question is – are these punitive damages income within the meaning of the tax code?

i. Compensatory damages – actual cost to make the P whole.  Obviously income because if everything had gone as planned, they would have made this money as income anyway.  (Replacement – look at what the money is replacing – here it is lost profits, so this is income.)

ii. Punitive damages – these are not replacing lost income; they are intended to punish.  But court holds that this is taxable because it is like a windfall – it is an accession to wealth clearly realized.
2. Gifts

a. Current treatment (§ 102) – no deduction to donor and no income for recipient.

b. Duberstein – 2 cases where a guy received “gifts” from their employers that they did not report as income.  Question of whether these were to be defined as gifts.

i. Definition of gift – detached and disinterested (no stake in the outcome) generosity.  Also look to the intent of the donor.

ii. Duberstein – Cadillac transferred from Berman to Duberstein.  They’d been doing business for a long time.  Berman deducted it as an expense.  If Berman perceived it as a cost of doing business, the car would qualify as an expense for paying an agent for referrals.  If this was the case, it’s hard to call Berman disinterested.

(i) Clear error standard – this is a factual question, not a legal question.

iii. Stanton – case of the minister who gets a 20K gratuity as he leaves his job at the church.  In the employer/employee context, there can never be a gift.

c. Duberstein today
i. Material consumption – when there’s a gift, nothing gets added to the tax base.  This is inconsistent with what we’ve learned about who has this consumptive power.  
ii. Need a standard for when something is a gift – the one set out in Duberstein, it’s a gift if it’s detached and disinterested generosity.

iii. Change in law – NO gifts between employers and employees (§ 102(c)).  But Duberstein stands because he was not an employee of the company that gave him the gift.

iv. § 274(b) – you may deduct $25 per year as a business gift.
3. Tips and transfer payments

a. Tips – compensation, so this is income.

b. Government transfers

i. Welfare/TANF/Medicaid – IRS has never treated these programs as income because the recipients are not normally taxable anyway.

ii. Unemployment – this is taxed under § 85 bc unemployment replaces wages, so it is income.

iii. Social security – upper threshold is treated as income, but this is complex so we don’t need to know this.

4. Inter vivos transfers of unrealized gain by gift

a. Concept of basis

i. Basis = the amount that the TP has invested in the property already – taxed dollars.

ii. We need basis so that when the property is transferred, we have some way of determining the portion of it that is income.

iii. Amount realized – 

iv. Income is the gain (or loss) – the difference between the amount realized and the basis.

b. Taft v. Bowers – 1916: A purchases 100 shares for $1000; 1923: FMV is $2000 and A gives shares to B; 1923: B sells shares for $5000.  Court is dealing with the issue of what “income” means under the 16th Amendment.  TP didn’t want to be taxed for the appreciation that the donor had gotten. 
i. B argued she should only be taxed for $3000 bc basis is FMV at time of transfer, so $2000.  IRS says no, the income is $4000, which means the basis is $1000.

ii. Court upholds the IRS and says this is fine, but doesn’t really say why.  This rule continues today for gifts that are given during life.

c. Statutory framework

i. § 1001

(i) Gain = amount realized – adjusted basis

(ii) Amount realized = FMV of all stuff received

(iii) Loss = adjusted basis – amount realized.  (You get a deduction for a loss.)

ii. § 1011 – adjusted basis for determining gain or loss.

iii. § 1012 – basis starts at cost.

iv. § 1015 – basis of property acquired by gifts and transfers

(i) Rule for computing gain – general rule is basis equals the carryover from the donor (carryover basis.)

(ii) Rule for computing loss – if FMV is greater than the donor’s basis at the time of transfer, use carryover basis.  If FMV is less than the donor’s basis at transfer, basis for computing loss is FMV at time of transfer.  (This is to prevent transfer of losses.)

5. Transfers at death

a. § 1014 – basis of property acquired from a decedent

b. Basis is FMV at date of death.

6. Gifts of divided interests (property to one, interest to another)
a. Irwin v. Gavit – donor makes a gift into a trust.  Under trust arrangement, the income went to Palmer and the principal went to Marcia when she turned 21. How do we determine how much income to each of the parties?
i. TP’s argument – Palmer was not reporting his interest based on section 161 because the money was a gift.  

ii. Court says Palmer gets taxed on all of the interest – his basis is zero.  Income interest gets no basis.  Conversely, all basis goes to the remainderperson (recipient of the principal.)

b. All basis goes to principal and none is allocated to the interest.

D. Recovery of capital

1. Introduction to capital gains

a. Capital gains – gain on sale of a “capital asset.”  Code is not clear on what a capital asset is, but a general understanding is: capital asset is property held at least in part for its appreciation in value.  (Examples are stocks, real estate, collectibles – things people invest in in order to see the assets grow.)

b. Principal issue is rate – capital gains normally taxed lower than other forms of income.

i. Long-term capital gain that is taxed at a favorable rate.  (Held onto asset for at least one year.)  Under current law, taxed at 20%.  For people in highest tax bracket (38.6%) that’s about half of that rate.
ii. Short-term capital gain (held less than one year) is taxed at a normal rate.

c. Deductability of capital losses – unfavorable treatment.  Normal rule for losses is a deduction in the amount lost.   But there is a limitation on this for capital losses:
i. In a given year, only deductible to the extent of the capital gains in that same year plus $3000.

ii. Example - $5000 capital loss and $1000 capital gain in one year.  Only $4000 of this is deductible loss for that year.  ($1000 capital gain + $3000 = $4000.)

2. The basic concept – recovery of capital
a. Inaja Land Co. v. Commissioner – Inaja owned this land and used his property in part as a private fishing club – he would gain profits from this bc his land was on the Owens River.  City of Los Angeles had a population explosion and needs a way to sustain the population.  They buy the water rights to the Owens River and build a tunnel and divert waters so that all this crap gets in the river due to the diversion.  It disrupts Inaja’s business, so he sues the city and settles for 50K after spending $1000 on atty’s fees.  So he gets a net payment of $9,000.  Is this $49,000 income?

i. IRS says it’s compensation for lost present and future income so it is income.  Inaja argues that the money is a payment for an easement that he gave the city.  He says because it’s an easement, he can’t assign a basis.  If it’s an easement, at least part of the recovery is a sale of the property itself – and problem of how to allocate how much of the property he has sold.  

ii. How much basis?  Court says apportionment is impossible, so all of the capital is recovered and there is no income – so Inaja not taxed on any of this.  (But this is the exception.  Almost all of the time there will be some way to apportion basis.)
iii. Adjustments to basis – example: say 5 yrs later, Inaja sells entire property for 70K.  After winning this case, what is the result when this happens?  His amount realized is 70K, his basis is ($61,000 - $49,000 of already recovered basis = $12,000).  This is adjusted basis.  You are not entitled to recover that amount more than once. So there is income for the $58,000 gain.

b. Present law – Reg. 1.61-6.  We need to allocate basis adequately.  TP has to figure out a way to allocate basis.

3. Annuities and pensions

a. Annuity – a contract with an insurance company by which TP receives a series of equal payment for the life of the annuitant.  (But this is not necessarily always the case.)

b. Exclusion ratio

c. More on this?

4. Gains and losses from gambling

a. Inclusion of gains – all gains are income.

b. Deductibility of losses – losses only deductible to the extent of gambling gains in the same year.  No carryover provision, unlike for capital losses.

c. Policy – why do we do it this way?  Personal consumption – this is not a purely financial transaction, it is a form of entertainment (much like spending money on dinner and a movie.)

5. Recovery of loss

a. Clark v. Commissioner – Clark goes to a tax lawyer for advice on filing his 1932 return.  Lawyer tells them to file joint return and they do.  IRS says they have a deficiency of $34,000.  It turns out if they had not followed the advice and filed separately, they would have saved $19,941.  They lost this money due to counsel’s negligence. So counsel gives them that amount to make up for his error.  They don’t report it on their return in the year of their recovery.  IRS relies on Old Colony case and says it was income because a 3rd party was paying the tax.

i. Old Colony – employer pays the tax for the employee.  If salary is $1M, tax is 40% (40K) and the employer pays that for the employee.  The employee will also have to include that tax money in income.  So the real total compensation is $1.4M.  Tax on that is 560K.  If employer already sent the 400K to the IRS, then the employee is only responsible for the remaining $160K on taxes.

ii. Holding – Court says no, this payment is replacing what Clark would have had free and clear of tax liability after having already paid his taxes for that year.  It is a payment to make him whole, to pay him back for money he should have had in the first place after having satisfied his tax liability.

b. When looking at recoveries – ask what is this payment replacing?

E. Recoveries for personal and business injuries
1. Recovery of damages – introduction
a. 2 questions:

i. Is it income under § 61? (Clark)  If yes address question 2.

ii. Is it nonetheless excluded by a statutory provision?

2. Raytheon Products – manufacturer of radio tubes.  RCA had licensing to all the radio sets.  RCA decided they wanted to get into the rectifying tube business as well.  It told all licensees that they had to buy their tubing from them and no one else.  They snapped up the rectifying tube business.  Raytheon went from flourishing tube business to almost totally destroyed.  They have no choice but to become an RCA licensee like everyone else, and they agree to not bring an antitrust suit against RCA – as long as they don’t treat them differently than anyone else they drove into the ground.  Raytheon finds out that RCA paid antitrust payments to other companies, so Raytheon ends up with a settlement of $410,000.  Raytheon says 60K was for patents, and it reports that money as income.  The remaining 350K is unreported, and the IRS asserts this is a deficiency.
a. Raytheon asserts that this was a chose of action – a payment to make it whole.  

b. Recovery of lost profits – 1st circuit said if there was recovery of lost profits, it would have to be included. Damages for lost profits replace lost profits themselves, and they would be taxable if they’d been earned by the company.

c. Recovery of injury to goodwill – 1st circuit said damage to capital, damage to goodwill (business reputation, brand name, etc.)….

i. RCA purchases Raytheon.  Purchase price – basis = gain. 

ii. Damage award for portion of the business.  We need to look at this asset and find the basis.  $350K basis – adjusted basis = gain (income).

iii. So need to figure out adjusted basis.  Court says the gain is $350K, so this makes adjusted basis zero.  Why?  What expenses might a company incur in order to get goodwill?  Advertising, marketing costs, etc – these costs are deducted immediately when they are incurred.  If that’s the case, how much can they add to basis?  None because it can’t be added to basis because the cost has already been recovered as soon as the taxpayer takes the deduction.  
d. Court’s holding

3. Source of payment – source of payment doesn’t matter.  Whether it’s a sale or a damage award, we treat it the same way.
4. Disaggregating awards – we can have trouble determining what is exactly what (disaggregation).  For example, what part is damage to goodwill and what part is lost profits.
5. Statutory provisions

a. § 104(a)(2) – if something is income under 61, it still may be excluded under this section if it fits within this rule – the amount of damages received on account of personal physical injuries or physical sickness are excludable.  

i. Example – TP gets in car accident and suffers emotional distress.  Is this “on account of” physical injuries?  Yes, the physical injury is the brass ring – it’s the gateway to anything else because of the “on account of” language.

ii. Lost wages due to physical injury – on account of physical injury so they are excludable (even though doesn’t make much sense.)

6. Structural settlements – mainly for tax purposes.  

a. Example: P and D agree on a number as far as what will be paid.  It shouldn’t matter if the money gets paid now or in a number of payments over years.  Say settlement is 1M.  D pays 500K now and 500K later.  D will be happy to defer – he hangs onto 500K and invest it and makes 50K, tax on that is 15K.  So in the second year, payment is 500K – (50K – 15K) = 535K.  Instead, D can pay money to an insurance company.  The company earns interest that is not taxed.  D in year 1 pays that amount they agreed to into the insurance company, which earns interest, doesn’t get taxed on it, and then pays the money to the P.  Everyone ends up better off as a result of this except for the govt.  D gets immediate deduction of the full amount, the insurance company handles the money, P gets a slightly larger payout as a result of the interest payment not being subject to taxation.  There are also structured settlement companies.  So the amount has to be large enough to justify paying all these transaction costs for these companies.
7. Other recoveries

a. Recoveries for insurance payments will be excluded to the extent that they haven’t already been deducted.

b. Payments under disability payments are excluded, but are computed based on how long they are off work.  This is due to a reemergence of the replacement rule.

F. Transactions involving loans and discharge from indebtedness

1. Loan proceeds

a. Basic idea – loan proceeds are not income.  This is true no matter what the use of the loan is, and whether it is a recourse or non-recourse loan.  (Non-recourse loan – no personal liability, you give up your right to the property that has been pledged to security.)
i. Applies to any kind of loan.

ii. Reason – it is not an accession to wealth (under Glenshaw Glass) based on the assumption that the loan will be repaid.

b. Kirby Lumber – they issued $12M in corporate bonds.  (Large corps can borrow money by issuing bonds – simply borrowing money from everyone who is purchasing the bonds.  Stock is ownership, bonds are loans to the corporation.)  So Kirby has borrowed money from the bondholders.  They purchases back $1M in face value of bonds for $862,000.  They were able to buy the bonds back for less than face value bc of a greater concern of nonpayment or because the interest rates went up (so the purchasers will make more money if they get their money back.)
i. Fluctuations in the value of debt – one reason that a corp would be able to pay back a loan for less than what it was originally taken out for.

ii. Court’s holding – the difference between the amount they originally borrowed and the amt they actually had to pay back equaled income from the discharge of indebtedness.  (So $138,000 income for Kirby.)
2. True discharge of indebtedness

a. Zarin v. Commissioner – engineer/compulsive gambler becomes friendly with Resorts in AC and they give him all sorts of credit.  AC Gambling Commission determines that Resorts is illegally extending credit to Zarin.  He owed $3,435,000 in gambling debts to Resorts.  He is able to settle with them for $500,000.

i. IRS says the extra $2M is income from discharge of indebtedness and he should be taxed on it.

ii. Court says this was NOT actual indebtedness.  The debt was also unenforceable as a matter of state law.    He also was not holding any property – the chips were not property according to the court.

iii. Contested liability doctrine – if we have a debt but we don’t know what it’s worth, we will wait until the parties actually settle and use that figure that reflects the value of the actual debt.

iv. Purchase-money debt - § 108(e)(5) – this provision might have made sense to rely on.  It applies to situations where sellers are extending credit to purchasers of property.

(i) Example: person purchases couch on layaway, pays $200 up fron and a hundred for next few years.  After 4 years, you haven’t fully repaid the amt and seller says you don’t have to pay the last payment.  This provision says that his is not true debt, it was a post hoc adjustment to the initial price.  Not a true discharge of debt, so not considered income.

(ii) Doesn’t work for Zarin because he was not purchasing property. Gambling probably considered a service.  But it explains the motivation for the result here.

3. Relief provision – insolvency relief
a. § 108(a)(1) – a person is not required to report all of discharge of debt because of insolvency.  This will come into play for them later though, when they are no longer insolvent.  It is a deferral provision rather than an excusal provision.  

4. Misconceived discharge theory

a. Diedrich v. Commissioner – TPs are parents who have a bunch of stock.  They transfer that stock to their children.  The transfer is a gift that triggers a gift tax liability of $62,992.  Parents’ basis in the stock is $51,073.  The children pay a gift tax (it was the parents’ legal responsibility, but the children agreed to pay it for them.)  What is the proper tax result from the transaction, and what sort of gain if any do the parents have in this transaction?  This would be any sort of debt, not just gift tax-related.
i. IRS argues that part of this is a gift and part is a sale.  The TPs had a liability of $62,992 from this transfer and that debt was discharged by the children.  The amount realized under IRS argument is $62,992, basis is $51,073, and the difference is $11,919 – this gain is income to the parents.  

ii. Deidrichs try to characterize it as a gift.  Gift?  Children paying the gift tax was a condition of them receiving it – doesn’t count as disinterested generosity, so not a gift.

iii. Court agrees with IRS and says there was income based on the difference between amount realized and basis for the parents.

b. Example with easier numbers:  Say gift tax was 60K, basis was 50K, and there was income of 10K under the IRS and court’s approach  So at transfer, 10K income to the parents.  Say the children later sell for 200K.  How much income for the children?
i. Amt realized for kids is 200K.  Basis is 60K.  (The kids essentially purchased the stock for 60K bc it wasn’t a true gift.)

ii. $140,000 income to the kids.

c. Alternative treatment – part sale/part gift

i. Treat as part sale at FMV and part gift.  This leads to different results.  In this case there is transfer by parents by 2 different transactions:

(i) Transfer to kids by sale – sale of 600 shares

1. Amt realized = 60K, basis = 30K since they have only sold 600 of the shares, then only allowed to recover 60% of their basis, bc treating this as a sale of FMV of the shares, so only able to recover the basis in which they sold to the kids, not all of the original basis.  So if $50 per share, $30K basis.

2. Gain = 30K

(ii) Sale by kids (and there are 400 shares left)

1. Amt realized = 100K, basis in purchased shares = 60K + 20K (for the gift shares; this is the formula in the textbook)

2. Gain in income for the kids = 20K

d. Comparison – Deidrich approach is better for the TP because there is more tax deferral for that rule than for the part sale/part gift calculation.  

e. § 1011(b) – Bargain Sale to a charitable organization – when you have a sale that is below the FMV (thus part of it is a gift) so then part is treated as a sale and then the rest is treated as a gift.  The adjusted basis for determining the gain of the part of the sale shall be the portion which bears the FMV of the property.  

i. Example: FMV property = 10K, TP’s basis = 2K, sale for 1K. TP will be able to recover portion of the FMV of the property that was sold.

(i) Sales price/FMV = 1K/10K = 10% ( this is the portion that we will allow the TP to recover for tax purposes.  This is the portion that we deem to be sold at FMV price. 

(ii) So what is the TP’s amt realized then?  Amt realized = 1K, basis = $200.  If sold 10% of her asset, she can recover 10% of her basis, which is 10% of 2K, so $200.

(iii) Gain = $800 for income tax purposes.

(iv) Difference btw FMV of the whole property and the TP’s sale price is 9K – this equals a gift.  TP is then given a deduction of 9K for the charitable donation of property then and the organization doesn’t have to put the 9K as income to be taxed bc it is a gift.

5. Transfer of property subject to debt  
a. Intro to depreciation

i. Depreciation deduction = a depreciation is often referred to as a deduction for the predictable decline in value of an asset used for business or investment purpose.  This is an exception to the general rule of waiting until the end to pay – actually allow the TP to take deduction to take account for the decline in value of a property asset in the business. 

b. Crane v. Commissioner – she inherits property from her H in 1932, at the time of his death the FMV of the property (land and apt) was $262,02.50.  The property wasn’t unencumbered, it was subject to a mortgage, a loan obligation that was the same amount of the property’s FMV at the time.  She owns the property for 6 yrs and takes the $25,500 in depreciation deductions, and then she ultimately in 1938 sells the property for $2500 and the assumption of the loan – so the debt is still attached to the property.
i. She argued that her basis was zero. She says FMV was the equity, which is the amount of the property’s worth that exceeds the loan which she says is $2500.  

ii. IRS argued that the basis is the FMV of the property, not the equity of the property – they say it is the value of the physical property irrelevant of debt (which here is $262,042.)

iii. Court agrees with the IRS, and it has to be under tax provisions.  

(i) If the basis was zero, then what would be the tax deductions each year?  None bc there is no depreciation here.  Regardless of debt attached when have property or dispose of it, it will be treated the same, of the physical FMV worth of the property, not the equity.

(ii) Rule – loan proceeds are treated the same as cash for purposes of determining basis.

(iii) Adopting this rule above, what is the her basis in 1938?  $262,000, then subtract from that the depreciation she took, this gets us to $236,500.  Bc depreciation is recovery of loss, then what is the right result when she sells the property for $2500 and the assumption of the loan?

1. Amt realized = $2500 + whatever she owed on the loan ($262,000) = 264,500.

2. Adjusted basis = 236,500.

3. Gain ~ 29,000 (not precise bc we rounded the numbers from the book slightly.)

c. Nonrecourse in excess of property’s FMV – this is one thing the Crane case doesn’t resolve.  They resolved the major issues concerning this type of debt, but didn’t consider and solve the underlying question posed in footnote 48 (pg. 167).  In Crane, there was nonrecourse debt, but it wasn’t in excess of the property’s FMV.  (This is what the next case talks about.)
i. Commissioner v. Tufts – we have a partnership in TX and they get together and purchase an apt building, but the real estate economy isn’t so great.  The partners borrow $1,850,000 nonrecourse loan and the partners chip in $45,000 of their own money, so the total paid is $1,895,000.  There is a $440,000 depreciation deduction.  They take these deductions, but by the end of 1972, the FMV of the apts is at 1,400,000 and as a result they basically give away the property at a price of $230,000 – so this is so insignificant that the law considers this an abandonment.  
(i) TPs want to subtract the FMV.

1. Amt realized – they calculated this to be the FMV at the tie of the abandonment, so $1,400,000.  

2. Adj basis = $1,455,000 (their loan plus the amount they put in less their deductions that they took)

3. Loss = 55K

4. They got 440K of deductions, then they walk away and say they’re now entitled to more deductions of 55K, so this can’t match up.

(ii) Court’s holding – full amount of outstanding when they walked away.

1. Amt realized = $1,850,000 (rounded amount – amount is the amount total owed on the mortgage.  The amount still owed on the mortgage is the amount realized on the transaction.)

2. Basis = 1,455,000 (already computed above)

3. Gain = 395,000 which is taxable.  When they leave the property they get relief from the whatever they owe plus the 250K they got from the buyer.  (Ct didn’t take the 250K into account though bc they considered it so minimal that the property was considered abandoned.)

ii. Bifurcation approach – separating this into two separate events, one as a sale of property and one as a discharge of debt.

(i) Say the partnership sells at the FMV, what are the tax consequences with the facts above?

1. Sale of property

a. Amt realized = 1,400,000

b. Basis = 1,455,000

c. Loss = 55K (capital loss)

2. Discharge of debt

a. Worth of debt owed: 1,850,000 minus (
b. FMV of land = 1,400,000

c. $450,000 – discharge of debt.

III. Problems of timing

A. Gains and losses from investments in property

1. The realization requirement

a. 3 steps to including a gain from property in income:
i. First there has to be income in an economic sense.

ii. There generally MUST be a realization.

iii. The item can’t qualify for non-recognition. (Provisions in the code that even though meets 1 and 2, there is still no recognition – deferral provision or an economic provision.)

b. Eisner v. Macomber – involved a stock dividend, known better today as a “stock split.”  She has 2200 shares in Standard Oil, and then the company issues to her an additional stock dividend (stock split) of 50%, which is 1100 shares.  
i. 3 choices for a company to do when it earns money – the use of earnings:

(i) It can reinvest the money in the company.

(ii) It can reinvest in the company and issue a stock dividend (this is what happened in this case)

(iii) Or it can issue a cash dividend.

1. Example – a company owns $100 value, there are 100 shares, and 10 shareholders.  In year 1, company earns $30 in profit.  Now they have 3 ways (above) to use these earnings.

a. Reinvest in company – value of stock at beginning of year is $1.0 (the company’s total value now is $130 and divide it up the same way, each stock is worth more.)

b. Reinvest in company but do a stock dividend – meaning that each SH gets more shares, 3 more each and each now has 13.  Worth of each share is $1. 
c. Issue cash dividend – issue out $3 to each SH and the value of the share is $1 per share.

ii. Was P better off after the stock dividend?  The sh isn’t better off for being in situation 2 than in situation 1.  Her ownership portion hasn’t changed at all bc all 10 shs own the same as before.  BUT – suppose she decides to sell out of her company, so she sells all of her shares for $13 under situation 1 – so she is better off, does she have an accession to wealth when she sells her shares?  No, all that has happened is that there is a change in her property allocation – she had $13 of shares and now she has $13 in cash, but the sale itself doesn’t make her better off or not, of course she isn’t better off having the shares or selling them – if just triggers a recognition or realization of the selling of the shares.
iii. Court’s analysis – options 1 and 2 are no different in substance, only different in pure form.  Option 2 – Congress can’t tax this, this is a constitutional claim – the appreciation of the stock alone isn’t taxable within the 16th A.  Stock dividend that is an appreciation isn’t taxable income within meaning of 16th A and thus no realization.  
(i) No longer good law – there are provisions in the code that tax appreciations in stock dividends.  

(ii) § 305 – gross income does not include distribution of dividends of stock.  But important to realize that in Eisner, the court was dealing with a constitutional question and that part of the case has been overruled.  305 presents a statutory exception – even though it might come under the 16th A, we won’t treat it that way.

c. Assessing the realization requirement

i. Justifications

(i) Simpler – valuation

(ii) Liquidity – if we wait until an actual sale, the TP will have the cash on hand to settle any tax liability.

(iii) Administrative costs.

ii. Problems

(i) Horizontal equity – if someone experiences increase in income by working, but it someone experiences same due to stock portfolio doesn’t have that liability, they will get to defer.
(ii) Vertical equity – more affluent people will have the opportunity to purchase things that will increase in value without realization.

(iii) Distort decisions (inefficiency) – “lock-in” problem.  We potentially lock in property.

(iv) Increased investment in nonrealizing assets.

d. Current exceptions

i. Depreciation – allowance for expected decline in value of an asset that’s used in a trade or business.  This is the single most important exception to the realization requirement!

e. Tenant improvements

i. Helvering v. Bruun – in 1915, Bruun leases property to someone for 99 years.  Building on the land has an unrecovered basis of about $13,000.  In 1929, the lessee tears down and constructs a new building according to terms of lease.  The building has an expected life of 50 years.  In 1933, lessee abandons the lease.  Question is – when the lessee leaves and leaves Bruun with a new building with FMV of $64,000, is that moment one of realization?
(i) TP’s argument was that the building was a capital asset and couldn’t be valued separately from the land that it was on.  He’s saying he hasn’t disposed of the land, so this was not a realization. 

(ii) Court’s holding – under 16th A, this is a gain – it is a realization.  The court says the building is distinctly separate from the land. The gain ends up being about $52,000.  

ii. Current treatment - § 109 – overrules Bruun because we no longer force the person in these circumstances to include this amount in income.  BUT Bruun was a constitutional case.  109 is a non-recognition provision – it says yes this is income, but we’re adopting this provision that says you don’t have to include it.  109 is a deferral provision, not an exclusion provision.  It goes with § 1019.  
(i) Under § 109, Bruun’s argument wins.  You don’t get a basis in it and it will eventually come back in.  You will eventually get the same result in terms of amount included – it is just deferred to a later date.  Works only as a timing device – you won’t have to include in that year, but you will have to include eventually.

(ii) It WILL be included when it is rent.  A low amount will be a good indication of rent.  109 says you look to the intent of the parties.  

(iii) REg. 1.61-8(c)

f. Realizing losses – when exactly can a TP realize a loss?
i. Cottage Savings – interest rates low in the 1970s, 30 year fixed rate mortgages about 7%.  By 80-81, the prevailing rate is more like 16%.  Tons of S&L’s had these mortgages at 7% at the time, and it was an enormous loss for them bc they are locked in at 7% when they could be loaning the money out at 16%.  They lost about a trillion dollars.  In June 1980, the relevant regulatory body (FHLBB) issues Memo R-49.  Memo R-49 says if S&Ls swap substantially similar interest in mortgages, they will not have to record those losses for regulatory/financial accounting purposes.  They can amortize the loss over the loss of the mortgages.  So they start setting up major swaps of loans.  Cottage Savings engages in a swap – 252 mortgages of 90% interest for 305 mortgages with 90% interest (FVM of $4.5M.)

(i) Why did Cottage Savings do this?  What matters in what they’re receiving is the fair market value.  They are giving up their liability.  They are doing this to get a loss for tax purposes.  Definition of a loss is adj basis minus amt realized.  Book liability for tax purposes – the basis is what they’re concerned about on the giving away side.  Loss creates a deduction under 165(a).  

(ii) Memo R-49 allows them to do the swap, immediately realize a loss, immediately deduct for tax purposes, but on the regulatory side, they don’t have to tell investors about this huge loss.

(iii) Court’s definition of realization – court said there was realization under § 1001(a).  
1. Both sides agree that it has to be materially different.

2. Question is whether this swap is materially different.

(iv) Application to the mortgage swaps – court says yes, this is materially different.  Why?
1. Macomber is a good example of no difference at all, so no realization.

2. Business reorganization cases – if changes states of incorporation, company is now governed by different rules.  Court says this would be materially different legal entitlements.

3. For Cottage Savings – materially different because different land, different homes and properties, different individuals are the borrowers – so materially distinct legal entitlements.

(v) Relevance of § 1031 – it is a nonrecognition provision for so-called “like-kind” exchanges.  If you have certain properties that are of like kind, then the TP need not recognize the …on the exchange.  The existence of this rule implies an outcome for this case – bc if the exchange of like-kind property was not a realization event, we would not need this provision.  Implicit acknowledgement that it is in fact realization.  
2. Express nonrecognition provisions

a. Introduction - § 1001(c) – if we have a gain or loss that’s realized, it shall be recognized.  So if we’re going to NOT recognize, it has to be spelled out in one of these nonrecognition provisions.
b. Involuntary conversions – if there’s an involuntary conversion and then re-use, the TP need not recognize the gain to the extent that it’s invested.
i. Computing gains – gain is the lesser of a) gain realized, or b) the amount recovered but not reinvested.


ii. Computing new basis – cost of a new building minus any unrecognized gain (to make sure it does get recognized when that property is ultimately disposed of.)

c. Like-kind exchanges: § 1031 – no gain or loss shall be recognized on the exchange of property held for productive use in a trade or business or for investment if such property is exchanged solely for property of like kind.  Rationale is that if people are sitting on large gains, they’ll be less likely to sell.  Not a complete exclusion here – a deferral provision.  Add calculation rules from back of handout!
i. Straight like-kind exchanges

(i) New basis = old basis.

(ii) Example: A has property with FMV $100 and basis $50.  B has property with FMV $100 and basis $80.  New basis for A is $50.  B’s new basis is $80.

ii. Exchanges with “boot”

(i) TP receives boot

1. Gain = lesser of gain realized or FMV of boot received.
2. New basis = old basis + gain recognized – FMV of boot received.

3. Example: A has FMV $100 and basis $50.  B has FMV 80.  B has to throw in boot to make this exchange go properly.  Amt realized = $100, basis = $50.  Gain realized = $50.  The boot is NOT like-kind property, so that has to be recognized if TP is cashing out on that.  New basis = $50 + $20 - $20 = $50
4. Example: A has FMV of $100, basis of $90.  B has FMV of $80.  Amount realized is $100, basis is $90, gain realized is $10.  Gain recognized is $10.  New basis = $90 + 10 – 20 = $80.  

(ii) TP transfers boot

1. New basis = old basis + recognized gain + FMV of boot transferred.

2. Example: A has FMV $100, basis of $50, boot of $20.  B has FMV of $20.  Amount realized = $120, basis = $170 (bc add boot to basis.)  Gain realized = $50.  Gain recognized = 0 because lesser of gain rec or FMV of boot (and no boot received here.)  New basis = $50 + 0 + $20 = $70.

(iii) Boot other than cash

1. Example: A has FMV of $100, basis of $50.  B has FMV of $80 with boot of tractor, FMV of $20.  Amt realized = $100, basis = $50, gain realized = $50, gain recognized = $20.  

2. New basis in like-kind property = $50 + $20 - $20 = $50.  Basis in tractor = $20 (FMV of tractor.)

iii. Exchanges of property subject to debt

(i) Example: A has FMV of $100, basis of $50, mortgage of $40.  B has FMV of $80 and mortgage of $20.  

(ii) Swapping of debt here.  Boot = net debt relief.  Net debt relief to A is $20 because he went from owing $40 to owing $20.  Boot is going from B to A because B assumes $20 more of debt.

(iii) Amount realized = $100, basis = $50, gain realized = $50, gain recognized = $20.

(iv) New basis = $50 + $20 - $20 = $50.

d. Sale of personal residences (§ 121) – this is a forgiveness provision.  Gain disappears from the tax base for good.

i. $250,000 excluded for single taxpayers, $500,000 for married

ii. Principal residence for a period aggregating to 2 yrs within the last 5 years.

iii. Can only avail yourself of this provision every 2 years.

iv. Exceptions in certain circumstances when the sale is to facilitate a move for health or employment reasons.

3. Boot and basis

B. Recognition of losses

1. Rev. Ruling 85-145 – CAB issued “route authorities.”  The airlines claimed a loss bc they spent a lot of money to get the route authorities in the first place and then suddenly they went way down in value because of a totally different regulatory regime.  They spent a lot of money to get these route authorities and now they have very little value.  If they had deducted the cost of obtaining these route authorities in the years they had obtained them, would they have a basis for claiming a loss deduction now?  We would incur a fair number of costs to put this application together – hiring lobbyists, lawyers, accountants, etc.  They were required to capitalize their loss – create basis.  As they incurred these costs in 1972 they took those costs and did not deduct them immediately, but used them to create a basis in the route authority.  Because they have a basis in the route authority, that is the reason they can potentially claim a loss – they have an asset that has declined in value.  Airline was force to capitalized the costs of obtaining the route authorities.  To obtain or create a long-lived asset (lasting more than a year.)

a. Capitalization vs. immediate deduction

b. IRS’s ruling – IRS said there has to be a “closed and completed transaction” before they will permit the TP to say the decline in value is sufficient to justify a deduction.  Here, there was some value left – not abandoned.  All we have here is a decline in value, not a closed and completed transaction.  So they cannot realize the loss here.

2. “Constructive realization” – selling short against the box.
a. Example: employee starts at Cisco when only have 50 employees and she has stock at FMV of $50M now.  Her basis in it is $100K.  She wants to get out bc all of her money is in one security and she wants to diversify.  But doesn’t want to recognize a 49.9M gain!  To get the best of both worlds – she would borrow identical shares of Cisco from investment bank with current FMV of $50M (borrows exactly what she already has.)  She turns around and sells them all for $50M.  But she makes sure she sells the borrowed shares and not her own. Does she have to recognize any gain?  No, because when she borrows these shares – it’s as if she used 50M to buy 50M of shares.  So her basis is 50M, and there is no gain.  Now she has $50M in hand and she’s out of risk of what happens to the cisco stock.  She can repay the investment bank with the shares she has now when the loan is due.  
b. Investment banks are willing to loan shares like this because the TP will pay a large fee for this service.

c. Congress passed a provision – if there’s a constructive sale of an appreciated financial position, it shall be recognized as a sale.  Synthetically through other means you’ve replicated the consequences of a sale.  

d. Can you still do this?

C. Annual accounting and its consequences

1. The use of hindsight

a. Annual accounting principle – income measured on an annual basis.  For most TPs it’s the calendar year, but it doesn’t have to be.  

b. Sanford and Brooks – leading case regarding annual accounting principle.  Court said annual accounting principle prevails no matter how unfair it may seem.  Sanford and Brooks were involved in a dredging of the DE River for the govt.  In 3 of the years (1913, 1915, 1916) in which the company engaged in the contract, it had negative income – more expenses than revenue.  Part of this had to do with the company being misled about the nature of the material at the bottom of the river – they sued the govt for this and got a settlement of $176,000 paid in 1920.
i. IRS said they had to include entire amount in 1920.

ii. TP’s argument – this was unfair and it was not income in that year because it was recovering losses in the prior years.  All we did was break even on the contract – so we have no income.

iii. Complication – benefit from deductions.  Complication stems from the fact that they had negative income in 1913, 1915, and 1916 – and this was before we had net loss carryovers.  In those years, they couldn’t use the deductions bc they had no income to deduct it against.

iv. Holding – we don’t determine until the transaction is complete.  

v. Comparison to Clark – Clark might look like because of what happened in the earlier year, we wouldn’t force him to include the extra money in the income.  How can we distinguish?  Why in Clark did we say the amount recovered did not need to be included in income?  Had to do with the replacement rule. The money replaced money that he should have had after taxes paid – should have been tax-free no matter what the circumstances.  Here this money was compensation for services, and there is nothing inherently excludable about that. 

c. § 172: NOL Carryovers – Congress steps in after Sanford to eliminate some of the unfairness.
i. You can carry over losses in years that you can’t use them to years in which you can use them.  You get to take net operating loss carryovers.

ii. NOL – loss modified by those set out § 172(d) – most important part in terms of figuring out NOL.  Most business losses will not be NOLs.  For individuals, we don’t take into account personal deductions, only take into account deductions related to businesses.

2. Claim of right – doctrine addresses what has to happen or at what point we say now this thing is income (when there is a contingency involved.)
a. North American Oil – a receiver was appointed in 1916 while there was a dispute between the company and the U.S.  In 1917, court rules in favor of North American Oil, so it turns over cash (income in 1916) to North American Oil.  US govt appeals, and this is not resolved until 1922 – court upholds the district court.  NAO has income here – but what year should it be included on the return?  NAO argues there are 2 alternatives here – 1916 when earned, or 1922 when the dispute was ultimately resolved.  If dispute doesn’t matter, it was earned in 1916.  

i. IRS says 1917.  Normally TP wants later inclusion bc of time value of money, but here they are arguing for opposite bc of the tax rate.  (Tax rates tripled in 1917.)
ii. Court says 1916 not right because no possession by the company.  At that time, no way to know how the dispute would come out – not enough at that time to say that it would def be their income ultimately.  So we’re left with 1917 or 1922.

iii. Court says 1917 was proper year bc this was the year they became entitled to the money.  Must receive it, concede to no offsetting obligation, and treats the money as his own.  At that point, we say it is now income.  

iv. When is it income?  Must receive it, concede to no offsetting obligation, and treats the money as his own.  

b. Lewis – he is paid $22,000 bonus in 1944, but he was only supposed to get $11,000 so he has to give it back in 1946.  Lewis doesn’t want a deduction in 1946, he wants a refund.  He ends up paying more in tax.  Due to the war, there is a difference in the tax rates and they’ve gone down a lot by 1946.  So he ends up paying a lot more on the taxes in 1944 than he gains on the value of the deduction in 1946.  
i. Deduction vs. credits – TP wants a credit for tax paid in 1944.  Due to different tax rates, he would have paid $5500 in 1944 and only $1100 in 1946.  Instead of a deduction, he wants a credit for taxes paid on the amount previously included.  He wants a credit of $5500 against his tax liability.  

ii. Court says no – we’re not on the transactional accounting principle, we operate on the annual accounting principle.  On an annual basis it makes sense to say you had the income in 44 and the loss in 46.  If he says he wants a credit, this can only be discerned by looking back to the previous year, and this is transactional.  It’s in 1944 that he has a full claim of right to the $22,000.  So it was income then.  In 1946 when he has to pay out $11,000, he is only entitled to a loss deduction.

c. § 1341 – Congress wasn’t happy with Lewis decision, so they enacted this section.  Have your cake and eat it too – TP can either take the deduction OR compute his tax without the deduction minus decrease in tax. 
i. So for Lewis, we can go back and find out how much the inclusion cost him in taxes for 1944 and then subtract it from his tax liability in 1946.  (Entitled to a credit for the amount that his tax was increased for the prior year.)
ii. This provision mitigates the harshness of the general accounting rule, because it allows the TP to look back in a transactional way at what happened in a previous year.

d. Amended returns – only appropriate when at time of filing, there is a mistake.  
i. In Lewis, there was no mistake – only a dispute.  There was nothing that could have been known to be incorrect at the time of filing.  

ii. Say the employer mistakenly put an extra 11K in Lewis’s account.  Lewis makes no claim of right to that, but mistakenly puts it on his tax return.  He gives the money back when he realizes it – then he can make an amended return.

3. The tax benefit rule

a. Basic idea – if a TP has claimed a deduction, and something happened subsequently that is fundamentally inconsistent, the TP has to give back the tax benefit of the preceding year’s deduction.

b. Alice Phelin Sullivan Corp. – the company donated a parcel of land to a charitable organization on the condition that it be used for religious or educational purposes.  In year 1, it hands over these parcels of land and claims a deduction of FMV of the land ($11,000.)  16 years later, the organization decides it can’t use the land anymore an gives it back to the TP donor.  TP conceded that there was income – the only question was how much and why?

i. Court said TP had to include the amount previously deducted.

ii. The rule looks back at the amount deducted, but not at the rate that it was taxed at that year.  The organization was taxed at a lower rate in year 1, so it wanted to go back and get the lower rate.  Bc we don’t do this, we don’t go along with the position of restoring the TP to how they were before.

iii. Also doesn’t go along with annual accounting principles bc doesn’t take into account the FMV of the property in year 16.  Idea of looking back is inconsistent with annual accounting – it looks back to the amount deducted, but not to the rate it was deducted at.
c. Inclusionary side – if in preceding year there was a deduction and something subsequently happens inconsistent with that deduction, then in that year, the TP is required to include the amount previously deducted.
d. Exclusionary side – now codified in § 111.  Gross income does not include income attributable to the recovery during the taxable year of any amount deducted in any prior taxable year to the extent such amount did not reduce the amount of tax imposed by the chapter.  (If TP actually got no benefit from the prior deduction, then when something inconsistent happens, there is no requirement of inclusion in the subsequent year.)
e. Sanford and Brooks revisited – could Sanford and Brooks have used this as a way of getting out of the problems they had?  Zoned out.
D. Constructive receipt and related doctrines

1. Introduction to accounting methods

a. § 446 – provision that deals with accounting methods.  Broad rule is that taxable income shall be computed under the method of accounting on the basis of which the TP regularly computes his income in keeping his books.  (You can’t switch around with methods to get the result you want.)

b. Cash vs. accrual method – we don’t follow either of these in any consistent fashion.

i. Cash method – we look at when cash is received or constructively received, or paid out.  Focus is on when the person receives the cash, constructively or equivalently (economic benefit) – this is the method used by most individual TPs.

ii. Accrual method – count something as income when all the right events have occurred to fix right to the income, and amount can be determined with reasonable accuracy – method used by most businesses bc gives a better picture of where the company is financially.

iii. Example – solo law practitioner provides services in year 1.  Incur expenses in that year.  In year 2, paid $4K for your services.  On cash method, that income is included in year 2.  Any expenses you’ve incurred are deducted in year 1, if you paid them then.  Under accrual method, you would recognize income in year 1.  Once you have completed terms of the contract, all of the events have occurred that have fixed your right to the income.  You have accrued the income even if you haven’t actually received it.

c. Applicability of other rules – constructive receipt, economic benefit, claim of right doctrine (see below)
i. Constructive receipt – only applies to cash basis TPs

ii. Economic benefit – only applies to cash basis TPs.  For the accrual method TP, it doesn’t matter – what matters is when all events have occurred to fix the right.

iii. Claim of right doctrine – applies to both.  In North American Oil, there’s a question as to whether they were cash or accrual.  Doesn’t actually matter – from a cash perspective, they actually received the cash in 1917.  From an accrual perspective, all of the relevant events have occurred to fix their right to the income – this happens in 1917.  So claim of right doctrine still applies – has to do with claims that are contingent.

2. Constructive receipt and economic benefit

a. See Handout 11.

3. Deferred compensation

4. Tax-preferred retirement plans

a. Qualified employee plans (§ 401 and § 403)
i. Contributions by the employer are not taxed.   These are usually after a certain probationary period of employment, fully vested – secured from the creditors of the employer.  Despite that this would otherwise qualify as economic benefit, they are not taxable.  

ii. Under 401(k) and 403(b) (both exceptions to doctrine of constructive receipt), employees can also set aside compensation that they would otherwise receive in cash. 

iii. Growth of the funds are not taxed, no matter what they represent.  (Even if we have realization events, such as sale of a mutual fund, if it’s going on within a fund, none of this is taxed.)

iv. At retirement, it is all taxed upon withdrawal as ordinary income.  

v. Benefit of deferral – slight downside is that there’s no benefit to the capital gain that is mixed up in there.

vi. Requirements:

(i) Nondiscrimination – retirement plans must be provided on a nondiscriminatory basis for both highly and not highly compensated employees.

(ii) ERISA – statute that imposes all sorts of mandates in terms of vesting, how secure funds are, etc.

b. Other tax-preferred savings vehicles – meant to replicate the features of the above plans for people who don’t have access to those other plans.
i. IRA – you get to contribute a certain amount, and then you’re entitled to a deduction based on how much you contribute.  Paying in and taking a deduction achieves the same result as above.

(i) Deduction on contribution

(ii) Growth is tax-free

(iii) Taxed on withdrawal as ordinary income

ii. Roth IRA – like an IRA in reverse.

(i) No deduction on contribution, but

(ii) No tax on withdrawal.

(iii) (You should end up in the same place if you’re in the same tax rate upon withdrawal.)

5. Employee stock options
a. Stock options generally – a contract to be able to purchase or sell stock at a particular price. Put options – entitle the holder to sell a stock at a particular price.  Call options – entitle the holder to purchase stock at a particular price.  These are traded on active public markets for large corps.  If you think a company is going to go down in value, you buy a put option – it’s a side bet that the corp will have trouble.  It will entitle you to sell the options for higher than it’s worth.  If you think stock will go up, you purchase a call option – then you are entitled to buy at a lower price.  Employers provide call options to give employees incentive to do well.  
i. Exercise price

ii. Time of purchase

iii. Other restrictions (such as you have to remain an employee to exercise your option.)

b. Three events that happen in life of option (3 different times to tax):
i. Grant

ii. Exercise

iii. Sale of the stock

c. Three alternatives – example: grant in year 1, FMV of stock = $20, exercise price = $8.  Exercise (year 5), FMV = $25.  Sale of stock (year 10), sale = $35.
i. Tax at grant – FMV of option = $12 (ordinary income in year 1.)  Exercises his stock.  Amt realized = $35, basis = $20.  So $15 income in year 10.  This is capital gain.  (We forced him to include $12 in year 1.  When he exercises, he has to kick in an extra $8 of his own.  So in year 10 we have $12 + $8 for a basis of $20.)

ii. Tax at exercise (say we don’t do anything until year 5.)  $0 at grant.  Ordinary income of $17 in year 5 because represents compensation from employer.  Amt realized = $35, basis = $25.  So $10 capital gain in year 10.

iii. Tax at sale of stock (say we don’t know what’s going on at grant, still too early at year 5, so we wait until year 10 and then we account for all tax consequences.)  $0 at year 1, $0 at year 5.  At year 10, amount realized = $35, basis = $8.  So capital gain income of $27.  (Doesn’t really make sense to treat it all as capital gain, but that’s how we do it.  No deduction for employer because if all capital gain, we’re saying none of it is compensation.)
(i) This is the most favorable treatment for the TP because you get to defer so long.  

d. Incentive stock options (§ 422)
i. Treatment – most favorable treatment for T bc you get to defer for so long.  (Same as taxing at sale of stock.)

ii. Conditions:

(i) Must wait 2 years from grant to sell the stock

(ii) Hold stock for one year

(iii) Exercise price can’t be less than the FMV of the stock at time of the grant.

(iv) Approved by shareholders.

(v) Can only have $100K of stock attached to the options at any one time.  (Example: you get 900 options on day 1, FMV of stock is $100.  This counts as $90,000 stock attached to unexercised options.  Then on day 50, you get 400 options and the exercise price is $50.  So this is $20,000 stock attached to the options.  We determine on the date of the grant.  On day 50, we’ve gone over.  So out of the $20,000, only 10K fit within our statutory limit.  So only 200 of those options from day 50 qualify under 422.  The rest will be nonstatutory options treated under § 83.)

iii. No tax consequences until the TP ultimately sells the stock that has been obtained on the exercise of an option.

e. Nonstatutory options (§ 83) – if under 83, it is readily ascertainable and has a ….. If on the other hand, it is not forfeitable, but has a readily ascertainable value, there is an election option.  You can choose to have inclusion at year one.  Difference in times when included at grant or exercise is whether there’s a readily ascertainable market value at time of grant.
i. Inclusion/tax at grant

(i) Mandatory inclusion at grant – if we have an option that is transferable or nonforfeitable and readily ascertainable market value – the TP has to include it at grant.  

(ii) Elective inclusion at grant – if we still have readily ascertainable market value, but presently it doesn’t meet the first condition.  The TP can choose to include at grant under § 83(b).
ii. Inclusion/tax at exercise

(i) If no inclusion at grant, include at exercise.

f. Cramer – Cramer is given a bunch of options in a company that is not publicly traded.  So he deems them worth FMV of $0 at grant.  He includes them at grant, but at the value of zero.  When he ultimately sells the stock, it is all capital gain.  If you choose to include at the time of grant but you way the value is zero, you’ve effectively replicated § 422.  This evasion led to the treasury promulgating the regulation below.  The guys get all these options and they include them but determine they are FMV of zero.  The company is bought out and they buy their stocks and they all make millions – they guys count them as capital gains.
i. TP’s position – they concede and say according to the regulation, we lose.  But their argument was that the regulation was invalid.

ii. IRS’s position – there was no ascertainable market value.

iii. Reg. 1.83-7(b) – treatment of non-publicly traded stocks.  Must go to (b)(2) – and it failed the first 3 prongs, so they don’t even discuss the 4th prong.
iv. Regulations and Chevron – regulations are rules promulgated by the executive branch. All legislative powers are vested in Congress – it is Congress that has authority to make law.  It is the administrative agencies’ job to make sure that the laws are executed via regulations.  Congress tells the Treasury to go out and enforce the laws by promulgating regulations – this is how we will enforce the statute, all TPs be on notice that this is how we take the law to mean and we will enforce it that way.  So not law in the constitutional sense, but it effectively has the force of law.

(i) Chevron – deference should be given to the administrative body.  2-step inquiry:

1. Has Congress spoken clearly on the issue?  (If yes, Congress prevails.)

2. If not, is the interpretation reasonable?  If yes, the court will defer to the agency’s interpretation of the statute.  Justification for this is that the agency has more expertise in this area and is in a better position than the courts to figure it out.  The agency generally knows better.  Also, it makes more sense to vest this authority in agencies, which are ultimately responsible to the elected president (democratic legitimacy.)  

v. Court’s holding – court says this is a reasonable interpretation of readily ascertainable values by the agency.  So the TPs lose – bc even if it’s a stretch, it’s reasonable so the regulation is valid.  They get a bunch of penalties because they invented basis to disguise what they were doing.

IV. Income splitting and the taxation of the family

A. Income from services – next 2 cases decided within 8 months of each other in 1930.  Tax treatment is different now, but these cases still stand for continuing principles.
1. Lucas v. Earl – at the time, the code didn’t take marital status into account.  So all TPs accounted for income individually.  There was an incentive at the time for spouses to shift income from the higher earning spouse to the lower earning spouse bc of the progressive rate structure.  Transfer from H to W gives you a lower marginal tax rate.  In 1901, H and W entered into a contract that all income would be taken in JT with right of survivorship.  So in 1920 and 1921, they split the income between the two of them and reported individually.  IRS wanted to tax all of it to Mr. Earl.

a. Court’s holding – IRS wins and can tax all of it to husband.

b. Continuing relevance – you can’t successfully transfer income from services to someone else through some sort of contractual arrangement.  

2. Poe v. Seaborn – Mr. and Mrs. Seaborn are from WA, a CP state – in a different way than the way CA is a CP state at the time.  Under the law in WA, all income earned by either spouse while married was owned by each spouse – they each had an undivided one-half interest in the income.  They did what the Earls did – they took the money and each reported half individually.  

a. Court’s holding – different holding than in Earl.  They are allowed to file this way.

b. Earl distinguished – privileging state property law over state contract law, because in Earl there was a private contract at issue.  In Earl, Mr. Earl could never have entered into that contract if he hadn’t had a 100% interest in the beginning that he was able to transfer.  (Sounds silly to Prof.)  Other than this, no real distinction between the 2 cases.

3. Subsequent developments

a. Unfairness after Earl and Seaborn – situation where a single person would pay more tax in a CP state.

i. Singletons v. smug marrieds in CP states

ii. Common law states – difference in treatment depending on distribution of income.

iii. Country as a whole – CP states v. common law property states – significantly different treatment.  (By 1941, when 70% are paying taxes, a bunch of states enact CP laws to give their residents the benefits of Seaborn.)

b. Married Rate Schedule (1948) – Congress creates this schedule by which it treats all married couples the same – married couple treated as one unit with one combined income.  This eliminates problem of people treated differently in common law states and takes care of issue of CP v. common law states.

c. Single Rate Schedule (1969) – increasing power of singletons.  They take over and are pissed that they are being discriminated against.  Congress intervenes and creates separate rate schedule for singles.  First time some people end up owning more taxes than they would have if they’d remained single – this is the dreaded marriage penalty.

d. Marriage “bonuses” and “penalties”

i. Marriage penalty example (based on example on 582):

	
	Income
	Tax Liability

	Single A
	$100K
	$24K

	Single B
	$0
	$0

	Couple C = A + B married
	$100K
	$21K

	(Couple C gets a bonus – their tax liability is lowered by $3K)

	
	
	

	Single D
	$50K
	$10K

	Single E
	$50K
	$10K

	Couple F = D + E married
	$100K
	$24K

	(Couple F gets a penalty – their tax liability is increased by $4K)


ii. Impossible to do all 3 of these: have a progressive rate schedule, treat all couples the same, and be neutral with regard to marriage.

B. Transfers of property and income from property

1. General idea – metaphysical distinction between things that are transferred.  Explanation as to why result of Blair is different from Horst?  Particular context of transfer within a marriage or pursuant to incident of divorce.  Another issue regarding division of property and attribution questions.  Transfers of property and income from property – one thing that is assumed, if someone owns a piece of property and that property generates income then we attribute that income to the owner of the property.  TP owns stocks and stock pays a dividend.  TP pays bond that is interest to the bond holder.  What we end up with is this question as to what happens when a TP in some way transfers an income interest?
a. We do not recognize transfer of income alone – income alone will not be respected for tax purposes, but the TP can transfer the property and if that property generates income then it will be respected bc whoever receives the property is earning the income.  

b. Ultimately we have a question of discerning a line as to when something transferred called “property” (e.g., income from property transferred to donee) and when instead all that has been transferred is and “income interest” (assignment of income that will not be respected and taxed to donor.)

c. No clear rationale as to why we draw distinction in this way.

2. Blair – he transferred, he had a life estate in testamentary trust which meant that he had the right to income.  Thus, he had an income interest – that is all he had.  Someone else was ultimately going to get a principal from this trust.  He gave away a portion of his income to one of his children.  Gave a portion to his daughter and others, $6K for remainder of one year and $9K thereafter for duration of his interest.  So there is some confusing language in opinion as to what is going on.  Essentially the question is – as the money is earned, Blair’s income interest is $100K/year and he takes $9K and gives it to his daughter and assigns this to his daughter.  Duration of interest is assigned.  
a. Interest transferred

b. Tax result – to whom do we tax the $9K?  It can be taxed to the daughter bc it was signed without reservation and entitled to all rights and remedies.  Ultimately taxed to the daughter.
3. Horst – opposite conclusion that in Blair.  Some bonds which had “detachable interest coupons.”  A coupon is a type of document which entitles the holder just to the interest.  All securities now registered with SEC so no problem regarding this problem present-day.  As they became due, the individual would clip the “negotiated” amount from the bond holder.  Clipped the coupons and gave them to someone else here.  
a. Interest transferred 

b. Tax result – when interest payments come due and gets check to whom do we attribute this income?  Supreme Court says it is taxable to the father here.  
c. Distinguishable from Blair – limited portion benefit from transferor is “money worth” for value of son, it is a gift – procured payment of interest as valuable gift to members of family.  Here he didn’t give away the underlying property whereas Blair had an income interest, had actual property in possession.  

d. From perspective of donor whether there is a reversion of some sort, difference btw someone giving a complete severed off slice of whatever it is they have (coterminous with whatever it is they have) that is distinguished from giving away what is clearly an income portion of what they have while retaining the underlying property. 

4. Sales distinguished – in above 2 cases we are discussing gifts and what we do when partial interests of property are given away.  
a. In Horst situation let’s say Horst sell one of these coupons.  Right to receive interest 5 months and sells for $100 to B and B in 5 mos will receive $105 payment.  When Horst sells coupon for $100 the amount realized will be $100 – original cost is the basis of the bond.

5. Irwin v. Gavit revisited – split interest, income question and underlying principle.  How much to principal and how much to basis?
a. All the basis goes with the principal.  If someone buys a bond then all the basis goes to the underlying principal, the bond.  As a result, zero basis goes to the coupons.  When sells coupon for $100, then gain will be $100.  

b. If B turns around and redeems for $105 then B gets taxed $5.  When B redeems coupon 5 mos later there will be no consequences to Horst. When it is a gift and gift of income then he ends up getting taxed (gift of income rather than gift of property.)

c. Situation in Horst is that when it is a gift and a gift of income interest and Horst gives son a coupon and son holds for 5 mos and later redeems it – at that point all that is given away is coupons.  What is given away is income interest rather than property interest.  

d. You must focus on perspective of donor as to whether it is property or simply “income” from property.  

e. Suppose Horst gave 2 coupons to son and 10 to daughter and the bond itself to daughter.  Horst has retained no interest so he will be taxed, the son will get taxed on the 2 coupons.  The daughter will be taxed and when she receives the bond itself she will get the carryover basis of what the father had.  As these coupons get paid to the son they are not taxable to the daughter, even though she now has what the father had and the reason is that she is the recipient (she has property interest).  She has not been given a partial interest in retaining the underlying property.  

f. Example: father gives 2 coupons to son, 10 coupons and bond to daughter.  Daughter subsequently gives 10 coupons to father (bc agreement in advance that she would transfer title and understood by parties then it is no considered a gift of complete bond, thus father must pay income.)

i. Again – consider intent of the donor.  Key is to consider what is retained vs. what is given.  

ii. No reversion to what is given away then taxable to son, bc concomitingly gave away 10% of bond itself.  

g. Example:  have a bond and pays interest for 10 years and then pays back principal and gives away all interest to sister.  Bondholder is taxed on all. If give away ½ of every interest payment then give away half of underlying bond bc interest is given away.  No reversionary interest with respect to what is given away to individual.  

i. Pays ¼ in the income.  That would be certain amount.  Underlying property interest remains taxable on interest.  

h. Example: own apt building and gives X the right to rental payments for the next 20 yrs, then owner would get taxed on rental payments.  In a will get the right to rental payments for rest of life and give half of those rental payments and donor will get taxed half of rental payments.  Blair only had income interest and retained no reversion interest.  Must be coterminous with donor’s interest to be respected.  

i. Need to look from perspective of who is giving the “stuff” away.  Must look at what the donor retained (or didn’t retain) to determine whether treated as income from property or property.  

6. Horizontal and vertical “slices”

C. Transfers incident to marriage

1. Introduction – when there are transfers, how do we determine who these are attributable to?  Davis concerns marital dissolution/property settlements.  Subsequent to that Congress comes in with § 1041, which supersedes holding.  Underlying idea and basis principle of Davis still holds – such that if transfer does not come within ambit of 1041, it is still subject to the rule announced in Davis.  
2. Property settlements – Davis – couple gets a divorce and enters into property settlement and as part of settlement, H transfers 1000 shares of DuPont stock to W.  2 questions – is this a taxable event?  If so, how do we account for the amount of gain as a result?
a. A “taxable event”?  A taxable event is measured by whether or not there is realization.  

i. 1000 shares have appreciated substantially and have sitting in them a good deal of unrealized gain.  Is this moment in which it is appropriate to account for this gain?  (Is this a realization event?)  If so, we need to include the amount in income unless falls within a nonrecognition provision.  

ii. § 1011 is basic definition of when recognition of gain is recognized on property – gain from sale or other disposition of property.  No sale here, do we have “other” disposition?  
iii. Exchange of stock for the release of marriage rights – state law question as to what she was entitled to under DE law.  Definitely not a co-owner, right to reasonable payment and this was property held in individual name and when marriage ended obligated to provide a reasonable property settlement.  

iv. In essence a settlement in advance of potential litigation.  Right to intestate succession and right to support whatever else should be supported under DE law.  

v. If exchange, then should it be a realization?  Exchange for release of marital rights then it is considered realization, although realization that is not necessarily in the form of money.  

vi. So gain must be realized unless nonrecognition provision applies.  

b. Measure of gain – problem is how to evaluate amount realized
i. Even exchange hypothesis – release of the rights are worth whatever the shares that were exchanged are worth.  If reason to believe the bargain was struck at arms length and know FMV on one side then assume same FMV on other side.  

ii. 1000 shares and whatever unrealized gain at the point when they are transferred to wife – capital gains income.  

iii. Realizing in the appreciation of the value of the stock, not able to buy off all of former wife’s marital rights.  If decline in value then throw in additional property, at that moment he is realizing an increase in value and it is appreciation of value of capital asset and that is considered capital gain and will be lower capital gains rate.  

c. Proper treatment of Mrs. Davis – she is not at issue here bc she has not been audited.  
i. Mrs. Davis’s basis in the stock – she should take FMV of stock when transferred as her basis.  This is the case because Mr. Davis had already realized gain to that market value and if given anything else would not reflect accurately the basis in the property.  

ii. Original basis of property is the cost. She has purchased the shares with her marriage.  Release of marital rights is the FMV of the stock.  

iii. This payment is replacing her marital rights – right to support during life of marriage, right to intestate succession, right to help or assistance, etc.  We are replacing income/items that would be enjoyed without any tax consequences.  So by replacement rule she should not be taxed either when she receives the money.  

3. § 1041 – nonrecognition provision that gives gift treatment to property settlements as long as they qualify as property settlements.  Governs transfers both during marriage and pursuant to dissolution of marriage.  Provides specifically that no gain/loss shall be recognized on transfer from individual to or into trust in benefit of a spouse or former spouse but only if transfer is incident to divorce.  
a. Basically treats these transfers the same as gifts are treated.  No income, no deduction, and carryover basis.  (Straight carryover basis regardless of value at time of transfer.)

b. Incident to divorce – if such transfer occurs within 1 year upon marriage cessation or related to cessation of marriage.  

c. Divorcing spouses and transfer doesn’t apply – if transfer falls outside of 1041, then Davis remains the background rule – if you transfer property in order to purchase someone’s legal right then it is a realization event.  

D. Alimony, child support, and property settlements

	
	Payor
	Recipient

	Property settlement (§1041)
	No deduction
	No inclusion

	Alimony (§71)
	Deduction
	Inclusion

	Child support
	No deduction
	No inclusion


1. Alimony

a. Taxpayer incentive – there is an incentive to characterize these payments as alimony.  The recipient of alimony tends to be in the lower tax bracket.  We want to attribute more to the recipient.  This way, more of the money gets allocated to the recipient.  This will be less aggregate tax paid by the 2 of them, and they will share the collective tax benefit if they plan in advance.  
b. Statutory requirements (§ 71) – designed to stop people from characterizing stuff that isn’t alimony just to get these benefits.  Requirements for alimony:
i. Cash

ii. Divorce instrument (judicial decree or written agreement between the parties; oral agreements will not work.)

iii. The parties have not elected out of alimony treatment.

iv. Not members of the same household (to avoid friendly divorces to minimize taxes)

v. Not after death of recipient (alimony is a maintenance payment – and if the payments continue after death of recipient, it looks more like a property settlement.)

vi. No contingencies based on child (looks more like child support, which is treated differently.)

vii. No excessive front-loading – there can’t be too much of a difference between year 1 and 2 payments and year 2 and 3 payments.  (A big payment at once during first two years looks like a property settlement.)

c. Excessive front-loading rules

i. Excess year 2 = Year 2 – (15K + Year 3)

ii. Excess year 1 = Year 1 – (15K + average of [Year 2*, Year 3])

iii. Year 2* = Year 2 – excess Year 2

iv. Example:  Year 1: $75K, Year 2: $75K, Year 3: $10K

(i) Excess Year 2 = $75K - $25K = $50K

(ii) Year 2* = 75K – 50K = 25K

(iii) Excess Year 1 = $75K – ($15K + avg [25K, 10K]) = $42,500

(iv) Excess Year 1 ($42,500) + Excess Year 2 (50K) = $92,500 recapture.  So payor includes this in income for year 3 and payee gets a deduction for this amount in year 3.  Payor still gets a 10K deduction in year 3.

2. Child support

a. General rule – no deduction for the payor, no inclusion for the recipient
b. Support payments in default – Diez-Arguelles v. Commissioner – ex-H required to pay a certain amount in child support each year.  By 1978, he is behind $4325 in his payments.  In 79, he pays almost nothing and is in arrears another $3000.  TP (ex-W) takes deductions for the amounts in those years under § 166(d).  
i. § 166(d) deals with nonbusiness bad debts – you can take a deduction in the year these debts become worthless.  There is a limitation on the individual – must be treated as a loss from sale or exchange – treated as a short-term capital loss.  (Can only deduct in that taxable year against capital gain + $3000.)

(i) Must be “out of pocket” and must have basis in the debt.

ii. Court’s holding – she is not allowed to count this as a bad nonbusiness debt bc TP has no basis in the debt.  (She responds by saying she’s actually spending money to care for the children – but the court says no, she is not “out of pocket” in the way the code defines the term.)

V. Personal deductions

A. Introduction to deductions
1. General scheme

a. §§ 162 and 262

i. § 162(a) – all the ordinary/necessary expenses incurred in making an income are deductible.  

ii. No deductions for personal expenses (but there are exceptions to this, see below)

b. Personal deductions allowed for:

i. Casualty losses

ii. Extraordinary medical expenses

iii. Home mortgage interest

iv. And others that really have nothing to do with pursuit of a trade or business – yet are deductible.  Some things have mixed elements of personal and business (like commuting, child care, business meals, etc.)

2. Statutory limits on deductions from individuals (limits on when people can take individual deductions) 

a. Standard vs. itemized – division between standard deduction and itemized deductions.  You have a choice between taking the standard (a set amount every year) or itemized – actually counting them out and taking that amount.

i. Standard is available for ease – so you don’t have to keep track of deductions.  Also provides a 0% tax bracket for low-income people.  (If you are married filing jointly, you have a 9500 deduction, so if you make less than that you will not be taxed at all.)

ii. Itemized deductions – these are known as “below the line” – under line 61 is taxable income.  (Also “above the line” – alimony paid, student interest, moving expenses – these are used to get gross income and they can be combined with the itemized.)

(i) Mortgage interest

(ii) State and local taxes

(iii) Medical expenses

(iv) Casualty losses

(v) Charitable contributions

iii. You can’t deduct these itemized things and take standard as well – it is one or the other.

b. § 68

i. For 2003, adjusted gross income of $139,500 is the threshold.  Itemized deductions are decreased by the lesser of 3% of income over the threshold ($139,500) or 80% of itemized deductions otherwise allowed.
ii. This phaseout is to be gone by 2010, but in 2011 it will come back in its original incarnation.  

iii. Example: TP has AGI of $239,500 – so $100,000 over the threshold.  $20,000 of itemized deductions - $3,000 = $17,000.

c. § 67 – limitation on miscellaneous itemized deductions.
i. 2% AGI floor.  You’re only able to start taking these deductions once they exceed 2% of your AGI.  Applies to:

(i) Unreimbursed employee expenses

(ii) Investment expenses

ii. 2% floor doesn’t apply to all other misc itemized deductions.

B. Casualty loss deductions
1. Basic framework of § 165 – generally, losses are deductible.  (But all gains must be included in income.)
a. § 165(c) puts significant limitation on deducting losses for individuals.  Limited to:

i. Losses incurred in a trade or business

ii. Losses incurred in any transaction entered into for profit, though not connected with a trade or business; and 

iii. Losses not connected with a trade or business if losses arise from fire, storm, shipwreck, or other casualty, or from theft.

b. Why do we have casualty loss deductions?  Public policy (hardship issues) and no personal consumption.

2. Statutory requirements:
a. Loss must be realized in that year.

b. Cannot be compensated for by insurance or otherwise.  (This compensation is called involuntary conversion.)

c. Amount deductible = lesser of: decline in FMV (economic loss) or adjusted basis (maximum tax loss)

i. $100 per casualty deductible per casualty.  ??

ii. Only to the extent that the casualty losses for one year exceed 10% of AGI.
3. “Other casualty”

a. Dyer – cat went crazy and knocked over a vase.  This was the cat’s 1st fit – if it had been the 2nd or 3rd fit there definitely would not have been a plausible claim.  
i. Court says no casualty loss.  “Ejusdem generic” – you should infer from the more specific items that the something comes from more the specific than the general, thus if there is a definition under 165, the other casualty has to be “like” specifically a fire, etc.

b. Chamales – case of the people who bought a house in OJ Simpson’s neighborhood.  They take a deduction for the drop in value of house due to the notoriety of the area bc of the murders and the “looky-loos” that flood the neighborhood.  
i. Court says this is not an “other casualty” – this is not like a fire, storm, etc.  “Sudden” and “unexpected” – we need those two things to make something qualify as a casualty like those spelled out in the section.

ii. Focus on “sudden” requirement in particular – court says the source of their difficulties was more akin to a steadily operating cause than a sudden thing – people were trickling in and staying, and they were continually coming in.  It wasn’t a sudden flood of people that came in and left that caused the decline in value.  (Like termites or a steady leak that undermines the value of the property – these are not sudden.)

iii. “Unexpected” – almost a tort concept of foreseeability.  If you had used up most of the life in your tires and suffered a blowout, this would not be unexpected.

iv. Circuits split on whether there has to be physical damage to the property – no real decision on this yet.

4. Public policy: Blackman – Blackmans were married and he moves away to another city for a job.  W hates it and moves back to the old house bc she has a “friend” there.  He goes there and finds out about the dude, and he goes to talk to her and there is a party and he’s not allowed in.  He breaks the windows in the house.  He puts some of her stuff on the stove and burns it, he allegedly puts out the fire completely, but the house burns down.  He tries to claim a casualty loss deduction for the house.  Insurance denies him coverage.
a. Court says we will not permit a deduction when it defeats the purpose of public policy.  Ordinary negligence might not be enough to make it a loss, but gross negligence is enough – Mr. Blackman was grossly negligent.

b. So no deduction for the husband.  

C. Extraordinary medical expenses

1. Requirements of § 213 – parallels the casualty loss section in many respects. (During the taxable year, not compensated by insurance or otherwise.)
a. “Unreimbursed” – not reimbursed by insurance or otherwise.

b. AGI floor – must exceed 7.5% of AGI.

c. Itemized – as with casualty loss ded, TP must itemize.  (Can’t take standard deduction and the extraord med expenses deduction.)

d. § 67 does not apply to this or the casualty loss deduction.

e. § 68 does not apply to this or the casualty loss deduction (phaseout provision once one’s income exceeds a certain amount.)

f. Why do we have § 213?  Bc medical expenses will affect a TP’s ability to pay taxes.  Also replacement – if we conceive of the deductions as the payments made to the medical provider, the TP is not being enriched, it’s bringing the TP back to a state that she was enjoying tax-free before.  

2. Medical care

a. Taylor – guy has severe allergies and the doctor tells him he shouldn’t mow the lawn.  He pays someone $178 to mow the lawn and tries to deduct this.
i. Court says it’s not enough simply for a doctor to say it would be advisable to do something.

ii. § 213(d)(1) defines “medical care” but statute doesn’t really provide any clear answers.

b. Ochs – wife is diagnosed with cancer, and having the 2 kids around put her in a nervous state.  Doctor recommends she not be around her kids.  TPs incur the expense of $1450 for boarding school for the kids – this was a substantial amount relative to their AGI, they spent over 25% of AGI on this school.  They deduct it as a medical expense.
i. Court holds it is not deductible.

ii. Franks dissent – says look at it another way and go through a test.  Would they have gone through this expense normally if there had been no medical expense?  No, esp when you look at the fact that the kids returned to public school as soon as mom was better.  So it really was the but for cause here.  (But competing problem is that the kids are another but for cause.)

VI. Deductions for mixed business and personal expenses

A. Travel and entertainment

1. Mixed motives generally – Bill works in the Bay Area and has to go to Seattle for a conference.  But he went to college there and stays the weekend for purely personal reasons – seeing friends, having meals with them, etc.  How to disentangle the business and the personal?  Fairly arbitrary rules for separating this stuff out.  

2. Statutory framework

a. Step one: § 162 – is it a deductible expense under 162?  Must meet ordinary and necessary business expense test.

b. Step two: § 274 – additional overlay on top 162, a specific disallowance provision.  Even though you have ordinary and necessary business expenses under 162, § 274 imposes additional requirements – deal with stuff related to entertainment and meal-type stuff.

3. Rudolph – this guy works for the Southland insurance company in TX, and the company decides to send the insurance reps to NYC by train for 2.5 days.  There was one work meeting, but the rest was a pleasure trip.  TP’s allocable cost was $560.  The company paid for the trip, TP was not out of pocket anything, so he could not claim a deduction.  In this case, we have the TP who never spent anything – so there would have been no basis for him to take a deduction.  But the court addresses 2 questions – whether income under § 61, and if so, would it nonetheless be deductible under § 162 as an ordinary and necessary business expense?  Today these are the same questions for the following reason:  “working condition fringe” – if Rudolph gets provided a benefit by employer, we ask under § 132 is he entitled to exclude it as a working condition fringe?  Today under 132(d), substance of analysis is the same – if he’d expended the funds himself, would it have been deductible.

a. Court’s disposition – Supreme Court “digs” it – dismissed the writ as improvidently granted.

i. Question of intent of the parties – factual question, the resolution of this is no interest to anyone other than the Rudolphs, so we will dismiss this case – SC doesn’t deal with factual cases, so they get rid of the case.

ii. “Primary purpose test” – was the primary purpose of the expenditure business or personal?  Must look at objective factors to determine.  Lower court ultimately determined that the trip was mostly for personal  and therefore nondeductible.  

iii. Company – what is the appropriate treatment for them?  They are the ones that expended the money.  This was a bonus for top employees, so this was compensation.  From perspective of employer, they would get a deduction as an ordinary and necessary business expense.  The Rudolphs have to include the amount in income. 
b. Standard under § 162 – primary purpose test
4. § 274 – added due to TP abuse when primary purpose test is the only thing imposed.  So they imposed some stricter requirements.  § 274 doesn’t apply to  all business expenses, just those commonly understood to amount to entertainment, amusement, or recreation.  
a. Stricter standard under § 274:

i. Is it directly related?  (Subset of primary purpose standard.)  You are actually engaged in something related to business during the event/amusement/etc.

ii. Associated with a trade or business as long as immediately before or after a business discussion.  (If a TP entertains another person merely to obtain goodwill, if it doesn’t immediately precede or follow a business discussion, it will be disallowed by this section.)

b. Other requirements imposed by § 274:

i. (a)(3) – club dues not allowed

ii. (d) – substantiation requirement

iii. (k) – business meals can’t be lavish or extravagant.  TP must be present at the furnishing of the food.

iv. (n) – 50% limit – you can only deduct half of the amount (totally arbitrary number – bc prob about half of claims are legitimate.)

c. If TP is an employee, under 132(d), we ask is it deductible under 162.  You don’t ask whether also deductible under 274.  

i. Example – TP is employee and provided with free dinner at business-related dinner.  TP has no reason to take a deduction – question is does TP have to include it in income.  We look at would it have been deductible under 162 with primary purpose test, not whether it would be limited under 274.  This was a working condition fringe bc if the employee had incurred it she would have been entitled to deduct it.  But still have to look at the company – this is where 274 comes in.  Appropriate treatment for company?  Look at 274 bc they are claiming a deduction.  If $200 bill, they can deduct $100 bc 50% of the bill.

B. Business lunches

1. Moss – law firm meets every day over lunch to have business meetings at the Café Angelo.  Moss claimed these expenses were deductible and he claimed them.  IRS disagreed.
a. Court denies deduction on the primary purpose test – doesn’t even get to the question of 274.  Court said they didn’t need to include lunch everyday.  No business purpose of the meal portion of the lunch.
b. All a matter of degree, frequency, and circumstance.  Quintessential circumstance of when meal is deductible is when an atty takes a client out for a meal to discuss business – here the meal would serve the purpose of “social lubrication” that would not necessarily occur in the office.  

C. Childcare expenses

1. Smith – H and W working, they hire a nursemaid to take care of child and they deduct the expense as an ordinary and necessary business expense.  
a. Court does not allow the deduction.

b. Is child care an ordinary and necessary business expense?  Goes back to a but for argument on kids and having a career, etc.

2. Work disincentives for secondary earners in married couples

3. Current treatment

a. § 162

b. § 21 – childcare credit (reduction in tax liability.)  It is a function of employment-related expenses and the applicable percentage.

i. Employee-related expenses X applicable percentage

ii. Applicable percentage = starts at 35% and goes down to 20% (floor) so it will be somewhere between those numbers.  0-15K = 35%, every 2K or fraction thereof, you reduce it by 1%.  For all income over $43,001, applicable % is 20%.  

iii. Employment related expenses – can include expenses for household services and expenses for care of a qualifying individual.

iv. Amount creditable: $3,000 if 1 qualifying individual in the house, and $6,000 for 2 or more.  You multiply this amount by the applicable percentage.  

v. The amount can’t exceed the income of the lower-earning spouse.

c. § 129 exclusion – this also mitigates the rule in Smith.  It provides an exclusion of up to $5,000 for amounts provided by an employer to an employee as part of a dependent care assistance program.  

i. Value of the exclusion depends on your income, which determines your marginal tax rate.  So this depends on your tax rate.  

ii. 30% tax bracket: $5000 - $1500

iii. 20% tax bracket: $5000 - $1000

iv. You have to choose to take either section 21 credit or section 129 – you can’t take both.  Choice will depend on AGI, marginal tax rate, as well as how many dependents living in the household.  

D. Commuting and moving expenses

1. Commuting expenses – NOT deductible.  
a. How do we distinguish commuting expenses (not deductible) from legit business travel expenses (deductible)?  When does commuting merge into travel and therefore become deductible? 

b. See Handout 15 and answers for fleshing out of these issues.

i. Hantzis – TP tried to deduct all of her NYC expenses when she was living in Boston but took a job in NY for the summer.  Court said home is where the job is.  Flowers and Hantzis basically the same case – is there a business justification for maintaining home in 2 places?  Here there was no business justification for maintaining her home in Boston.  

c. Other issues

i. “Home” – need to determine where the home is.

ii. § 162(a)(2) – “lavish and extravagant” modifies meals and lodging, not all travel expenses.  So the IRS seems to allow lavish and extravagant travel, just not lavish and extravagant meals and lodging.  

2. Moving expenses (§ 217) – generally provides for deduction for moving expenses incurred in connection with taking a new job.  
a. Under 132, if an employer reimburses an employee for moving expenses, that reimbursement is excludable as income.

b. Conditions on the allowance:

i. The new job has to add at least 50 miles to the individual’s commute or there will be no deduction.
ii. TP needs to work for at least 39 wks in a 12 month period after the move or 78 wks during the 24 month period before the move.  

c. Above the line deduction – above the AGI – so can be taken with the standard deduction.  

VII. Deductions for the cost of earning income

A. Distinguishing current expenses from capital expenditures

1. Question is timing – figuring out when it is that the TP will be entitled to recover.  

a. Current expense – deductible in year occurred OR

b. Capital expenditure – must be added to the basis of the asset (capitalized).  When added to basis, TP will be entitled to recover the cost of the asset either over life of asset or at ultimate disposition of asset.

2.  “Capital assets” distinguished

3. Essence of distinction

a. Like the route authority case.  If they had deducted the loss as it occurred, they would have had no basis.  If you lose an asset with a basis of 0, you have no loss.  Airlines had a basis in the asset because they were required to capitalize the expenses and put them into the basis of the route authorities.

i. Long-lived asset – one that will produce income beyond the year it is created or acquired.

(i) If the cost is for the acquisition/creation of a long-lived asset, then that cost has to be capitalized – and it goes into the basis of the asset.  

(ii) If not, then it is immediately deductible – in the year in which the expense is incurred.

(iii) Tax logic to this principle – purchase of truck for $35K – it has converted one asset into another asset, no loss here.  If he was permitted to deduct the 35K right then, there would be a mismatch.  

4. Wasting and non-wasting assets (another distinction between long-lived assets):

a. Wasting asset – asset that wastes away somehow.  It will be subject to depreciation.

b. Non-wasting asset – no depreciation.  

5. Indirect expenses

6. Encyclopedia Britannica – EB is making a book called Dictionary of Science, they normally do this stuff themselves but they hire another company, David Stewart, to produce the manuscript.  EB takes a deduction in the year paid ad advances to David Steward.  IRS says no – these are capital expenditures.  This is rightfully a capital expenditure – it will produce income for EB beyond the tax year in question in which they paid the advances.  It’s not something that will be used up. At this stage, we’d say capital expenditure.  Problem for Judge Posner is that we have this line of cases like Faura decision, where authors had been allowed to deduct expenses immediately.  More recent SC decision called Idaho Power.  
a. Idaho Power – Idaho Power is a utility in business of generating electricity.  They buy some trucks, long-lived assets.  IP capitalizes the expense and then as a result, creates basis in the truck.  Then depreciates over life of trucks – as they depreciate, it takes deductions in each year.  Added wrinkle is that these trucks were used exclusively to create power lines and stations.  So what do we do with the depreciation deductions?  Depreciation within depreciation here.  Trucks are losing value (and this is a cost) but they are being put to the use of creating another long-lived asset.  So deduction for trucks shouldn’t be taken immediately, but instead should be added to the basis of the power lines and stations.  

i. Posner doesn’t think Faura makes a lot of sense.

ii. But they find that EB has to capitalize the expense of the manuscript – it’s a capital expenditure.

7. UNICAP rules of § 263(a) – enacted mid-80s.  (Logic of Faura eliminated by these rules.)  

a. Creating or acquiring long-lived assets – all costs in creation or acquisition of long-lived assets must be capitalized.

i. Includes direct costs as well as

ii. Indirect costs

b. Creating or acquiring inventory – costs of creating or acquiring goods for sale (inventory) must be capitalized into inventory account – recovered at time of sale.  

c. Examples:

i. TP employs an architect that he will use in his business. Capital expenditure, so the cost will go into the basis of the building.

ii. R&D, all marketing and advertising goes into creating long-lived asset.

B. Repair and maintenance expenses – repairs will be a current expense, deductible in the year in which it is incurred.  Improvements will be capital expenditures. (Reg. 1.162-4)
1. Difference

a. Repairs – expenditure for the purpose of keeping the property in an ordinarily efficient operating condition.  Does not add to the value of the property or appreciably prolong its life.

b. Improvements – prolong the life of the property, increase its value, or make it adaptable to a different use.

2. Midland Empire – company cures ham and bacon in basement, water leaks in basement but an oil refinery moves in and now oil is seeping in.  They decide to put in a cement basement to keep the oil from affecting the meat.  They say they are just restoring the business to normal operation – but IRS disputes and says this is a capital expenditure, this cement lining is going to last a long time, etc.
a. Court comes down on the side of repair, meat curing place wins.

b. Court seems to hint at foreseeability.

i. Foreseeability – if it’s something the company could have foreseen needing to do at some point to make the basement better, this would be more like an improvement – capital expenditure.  On the other hand, if an outside agent comes in unforeseeably and you spend money to get back to where you were, this is more in the nature of repair.  
C. Goodwill and other assets

1. Depreciation of goodwill

2. Background rule – general rule was no depreciation, but then Congress stepped in and enacted § 197 for when a TP acquires a business.
3. § 197 intangibles – intangibles under this section are depreciable under the straightline method over a 15-year period.

a. Some things under this statute are not goodwill – like patents and copyrights.

b. § 197 only applies to assets acquired by acquisition of another business.

c. If it has a useful life (like a patent), cost is recovered over that useful life instead of 15 years.

D. Depreciation and MACRS

1. The mechanics of depreciation – depreciation is only relevant for assets being used in a trade or business or used for investment purposes (being used to generate income.)  Decline in value of personal property is just personal consumption – so no depreciation allowed.

a. Useful life – time over which to recover.  Practically not very difficult because it is all set up by statute.  Or in rare case, it is identifiable in the asset itself (like a patent for 20 years.)

b. 2 parts to the method question – applicable method and applicable convention:

i. Applicable method – 2 most commom:
(i) Straightline – recover the same amount in every year over the life of the asset.  (Ex: a truck purchased for $1000 and it’s a 5 year property.  This method says you can recover $200 per year.)

(ii) Double-declining balance (don’t have to know this) – this accelerates and leads to uneven deductions.  It frontloads deductions to earlier years.

ii. Applicable convention – 1st and last years of service. We start with the year the thing was placed into service.  
(i) Mid-month – whenever you put it in use, we deem it to have been placed into service in the midpoint of that month.  (Divide year into 24 half-months and go from there to create your fraction.)

(ii) Mid-year – you deem it to be placed into service in the middle of the year.
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